

Course

Evaluations.

①

Ask Nitya

→

6 responses.

②

Inquire.

→

40% responses.

③

Theora

→

Difficulty of Q1

on final \approx 80% (80% responses) + 2

④

Stop asking if

80% Response.

Reflection this week:

NONE!

Reviewers Session / Questions:

10:00 - 11:30 Cooper
Friday

$$\textcircled{1} \mu = E \int_t^0 f(s) W(s) ds = \int_t^0 E f(s) W(s) ds = 0$$

Complete $\mu = E X(t) \quad \sigma^2 = E (X(t) - \mu)^2$

\Rightarrow Normal.

~~not random~~

$\Rightarrow X(t)$ is normal.

$(W_{t_0}, W_{t_1}, \dots, W_{t_n})$ is jointly Normal.

Q1: $t \rightarrow$ [not random] $X(t) = \int_t^0 f(s) W(s) ds$

Sol: $\textcircled{1} X$ is normally dist.

$X(t) = \lim_{N \rightarrow \infty} \sum f(t_i) (W_{t_{i+1}} - W_{t_i})$

$$\textcircled{2} \quad E X(t)^2 = V^2$$

$$\text{Option 1: } E X(t)^2 = E \left(\int_t^0 f(s) W(s) ds \right)^2$$

$$= E \left(\int_t^0 f(s) W(s) ds \right) \left(\int_t^0 f(r) W(r) dr \right)$$

$$\approx E \int_t^0 \int_t^0 f(s) f(r) W(s) W(r) dr ds$$

$$= \int_t^0 \int_t^0 f(s) f(r) (s \wedge r) dr ds$$

Optim 2:

Choose $F(t) = \int_t^0 f(s) ds$.

$$d(Fw) = w F' dt + F dw + d[F, w]$$

$$= w \dot{f} dt + F dw$$

$$\Rightarrow F(t)w(t) - 0 = \int_t^0 w(s) \dot{f}(s) ds + \int_t^0 F(s) dw(s)$$

$$\Rightarrow X(t)^2 = \left(F(t)w(t) - \int_t^0 F(s) dw(s) \right)^2$$

$$= F(t)^2 w(t)^2 + \left(\int_t^0 F(s) dw(s) - 2F(t)w(t) \int_t^0 F(s) dw(s) \right)^2$$

$$\Rightarrow EX(t)^2 = tF(t)^2 + \int_t^0 F(s)^2 ds - 2F(t) \int_t^0 F(s) ds.$$

$$= 0 + 0 + \int_t^0 F(s) ds.$$

$$\Rightarrow E W(t) M(t) - 0 = E \int$$

$$= W dM + M dW + F(t) dt$$

$$d(W(t)M(t)) = W dM + M dW + d[W, M].$$

Complete last form: let $M(t) = \int_t^0 F(s) dW(s)$.

$$\Rightarrow EX(t)^2 = tF(t)^2 + \int_t^0 F(s)^2 ds - 2F(t)E\left(W(t) \int_t^0 F(s) dW(s)\right)$$

$\int W \, dM$ is a martingale.
 $\int W \, dM$ need not be a martingale.

Q20
 $\sigma, \tau, \rho \rightarrow$ not random times of t .
 $M, N \rightarrow$ cts mgs,
 $M(0) = N(0) = 0$.

Given $d[M, M](t) = \sigma(t) \, dt$

$d[N, N](t) = \tau(t) \, dt$
 $d[M, N](t) = \rho(t) \, dt$

(1) Compute MGF

(2) If $\tau = 1, \tau = 1, \rho = 0 \Rightarrow (M, N)$ is a 2D B.M.

Sol: let $\lambda, \mu \in \mathbb{R}$,

$$f(t) = e^{-\lambda t / \mu} = e^{-(\lambda/\mu)t} = e^{\lambda M(t) + \mu N(t)}$$

It's: let $Y(t) = e^{\lambda M(t) + \mu N(t)}$

where $g(x, y) = e^{\lambda x + \mu y}$.

$$\partial_x g = \lambda g, \quad \partial_y g = \mu g, \quad \partial_x^2 g = \lambda^2 g, \quad \partial_y^2 g = \mu^2 g$$

$$\partial_x^2 g = \lambda^2 g$$

$$It's \Rightarrow dY = \lambda Y dM + \mu Y dN + \frac{1}{2} (\lambda^2 Y d[M, M] + \mu^2 Y d[N, N])$$

$$2 \partial_x^2 \lambda \mu Y d[M, N]$$

$$\Rightarrow \underbrace{Y(t) - Y(0)}_1 = \int_t^0 \lambda Y dM + \int_t^0 \mu Y dV$$

$$+ \frac{1}{2} \int_t^0 (\lambda^2 Y^2 + \mu^2 Y^2 + 2\lambda\mu Y^2) ds.$$

$$\Rightarrow EY(t) - 1 = 0 + 0 + 0 + \frac{1}{2} \int_t^0 (\lambda^2 + \mu^2 + 2\lambda\mu) EY(s) ds.$$

$$\Rightarrow f(t) = 1 + \frac{1}{2} \int_t^0 (\lambda^2 + \mu^2 + 2\lambda\mu) f(s) ds.$$

$$\Rightarrow \frac{df}{dt} = f$$

$$\Rightarrow f(t) = f(0) \exp\left(\frac{1}{2} \int_t^0 (\lambda^2 + \mu^2 + 2\lambda\mu) ds\right)$$

MGF

② Key: $r=1, \tau=1, \rho=0$

$$\Rightarrow \varphi_{\lambda, \mu} (M(t), N(t)) = E e^{\lambda M(t) + \mu N(t)}$$

$$= \exp\left(\frac{1}{2}(\lambda^2 + \mu^2)t\right)$$

= MGF of 2D normal mean 0 & variance t .

$$\Rightarrow (M(t), N(t)) \rightarrow \text{Jointly normal } N(0, \begin{pmatrix} t & 0 \\ 0 & t \end{pmatrix})$$

like 2D BM.

To show $(M(t), N(t))$ is a 2D BM

NIS $M(t) - M(s)$ is ind & \mathcal{F}_s (& same for N).

Same trick (before Markov) : compute $E e^{\lambda(M(t) - M(s)) + \mu(N(t) - N(s))}$...

Complete

$$E\left(e^{\lambda(M(t) - M(s))} \mid \mathcal{G}_s\right) = e^{\frac{\lambda^2}{2}(t-s)}$$

$(\Rightarrow M(t) - M(s)$ is ind of \mathcal{G}_s & $\sim N(0, t-s)$).

$\Rightarrow (M, N)$ is a 2D B.M.

Q3: Markt \rightarrow Stock $S(t) \rightarrow$ GBM (μ, σ)

\rightarrow M.M. \rightarrow constantly compounded interest rate r

Derivative security pays $V(T) = \frac{1}{T} \int_T^0 S(t) dt$ at time T

~~Q4~~ Compute the arbitrage free price at time $t < T$.

Sol: RNP formula: $\tau = T - t$

Knows $V(t) = \mathbb{E}_T \left(e^{-rT} V(T) \mid \mathcal{F}_t \right)$

& Knows under \mathbb{P}_2 , $S = \text{GBM}(r, \sigma)$

Complete: $\mathbb{E}_T \left(e^{-rT} \int_t^T S(s) ds \mid \mathcal{F}_t \right)$

$$= \mathbb{E}_T \left(\int_t^T S(s) ds + \int_T^t S(s) ds \mid \mathcal{F}_t \right)$$

$$= e^{-rT} \left(\int_t^T S(s) ds + \int_T^t \mathbb{E}_T(S(s) \mid \mathcal{F}_t) ds \right) \dots \textcircled{*}$$

($T < t$)

$$S(s) = S(0) \exp\left(\left(r - \frac{\sigma^2}{2}\right)s + \sigma \tilde{W}(s)\right) \quad (s > 0)$$

$$= S(t) \exp\left(\left(r - \frac{\sigma^2}{2}\right)(s-t) + \sigma \left(\tilde{W}(s) - \tilde{W}(t)\right)\right)$$

$$\Rightarrow \mathbb{E}_2\left(S(s) | \mathcal{G}_t\right) = \mathbb{E}_2\left(S(t) \exp\left(\left(r - \frac{\sigma^2}{2}\right)(s-t) + \sigma \left(\tilde{W}(s) - \tilde{W}(t)\right)\right) | \mathcal{G}_t\right)$$

$$= S(t) \exp\left(\left(r - \frac{\sigma^2}{2}\right)(s-t)\right) \mathbb{E}_2\left(\exp\left(\sigma \left(\tilde{W}(s) - \tilde{W}(t)\right)\right) | \mathcal{G}_t\right)$$

$$= S(t) \exp\left(\left(r - \frac{\sigma^2}{2}\right)(s-t) + \frac{\sigma^2}{2}(s-t)\right) = S(t) e^{r(s-t)}$$

$$\Rightarrow V(t) = e^{-rt} \left(\int_t^T sp(s) ds + \int_T^t S(t) e^{r(s-t)} ds \right)$$

$$= e^{-rt} \left(\int_t^T S(s) ds + S(t) \left(e^{r(T-t)} - 1 \right) \right)$$

$$V(t) = e^{-rt} \int_t^T S(s) ds + S(t) \left(\frac{1 - e^{-rT}}{1 - e^{-rt}} \right)$$

Complete R. Part fnc. $V(t)$ \Leftarrow Rest cash.
 $\Delta(t)$ shares of S

$$\Delta(t) = \frac{rT}{1 - e^{-r(T-t)}} \quad \text{Note } \Delta(T) = 0$$

4.5:

$$B(t) = \int_t^0 \text{sign}(W(s)) dW(s)$$

$$\text{sign}(x) = \begin{cases} 1 & x \geq 0 \\ -1 & x < 0 \end{cases}$$

① Is B a BM.

(Yes \rightarrow wrong. B is a martingale.)

$$E[dB, B] = 1 dt \Rightarrow \text{OED.}$$

② Is $W(t) = \int_t^0 \tau(s) dB(s)$ for some τ ?

$$dB(s) \text{ sign}(W(s)) dW(s) \Rightarrow dW(s) = \text{sign}(W(s)) dB(s)$$

$$\Rightarrow W(t) = \int_t^0 \text{sign}(W(s)) dB(s)$$

③ Complete $[B, W]$ \Rightarrow

$$W(t) = \int_t^0 1 \, dW$$
$$B(t) = \int_t^0 \text{sign}(W(s)) \, dW(s)$$

$$[B, W](t) = \int_t^0 \text{sign}(W(s)) \, ds$$

④ Are B, W ind? Unranked?

Complete: $E(BW) : d(BW) = B \, dW + W \, dB + \text{sign}(W(t)) \, dt$

$$\Rightarrow E B(t) W(t) = 0 + 0 + \int_t^0 E \text{sign}(W(s)) \, ds = 0$$

$\Rightarrow B(t)$ & $W(t)$ are unranked.

$B \& W$ are normal \Rightarrow ~~$B \& W$ are ind?~~
 (But not \forall joint Normal) $\nrightarrow B \& W$ are ind!

Know $B \& W$ are NOT ind because
 $[B, W] = \int_t^0 \text{sign}(W(s)) ds \neq 0$

4.5:
$$dX = \theta(\mu - X(t))dt + \sigma dW$$

$\theta, \mu, \sigma \in \mathbb{R}$

① Solve & find a formula for X .

Set $Y(t) = e^{\theta t} X(t)$

$\Rightarrow dY = e^{\theta t} X dt + e^{\theta t} dX$

$= e^{\theta t} dt + e^{\theta t} \theta(\mu - X(t))dt + \sigma dW$

$= \cancel{\theta Y dt} + e^{\theta t} \mu dt - \cancel{\theta Y dt} + \sigma e^{\theta t} dW$

$= e^{\theta t} \mu dt + \sigma e^{\theta t} dW$

→ Funktion Umkehr Prozess.

$$X(t) = e^{-\theta t} x_0 + \mu \int_0^t (1 - e^{-\theta s}) ds + \sigma \int_0^t e^{-\theta s} dW(s)$$

$$= e^{-\theta t} x_0 + \mu (e^{-\theta t} - 1) + \sigma \int_0^t e^{-\theta s} dW(s)$$

$$\Leftrightarrow X(t) e^{\theta t} = x_0 + \mu \int_0^t (e^{\theta t} - e^{\theta s}) ds + \sigma \int_0^t e^{\theta(t-s)} dW(s)$$

mit $x_0 = X(0)$.

$$\Leftrightarrow X(t) - X(0) = \mu \int_0^t (e^{\theta t} - e^{\theta s}) ds + \sigma \int_0^t e^{\theta(t-s)} dW(s)$$